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Question One
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45673 + 28997 — 15759 =

7235x49 =

203.92 - 45.67 =

614870 = 600000 + + + + +
738+9=

Question Two
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Write the following numbers in words.
i. 39672
ii. 16002
State the place value of the underlined digits in the numbers given below.
i. 25092
ii. 634.29
Show 406.32 on an abacus.
Arrange the numbers given below in ascending order.
635, 967, 828, 447, 519
Arrange the numbers given below in descending order.
5001, 9094, 7403, 6009, 8080

Question Three
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Mr Smith had 767 sheep on his farm. After buying some more sheep from Mr Khan, he has a

total of 950 sheep. How many more sheep did Mr Smith buy?

There are 36 cans of juice in a box. How many cans of juice will be there in a dozen boxes?
$9000.00 was collected from ticket sales to 600 people for a soccer match. What was the

price of each ticket?

Anna sold half of her story book and then bought 10 more. She now has 22. How many did

she begin with?

The sum of three consecutive numbers is 168.
I What is the smallest of the three numbers?
ii. What is the biggest of the three numbers?

Riya saves $45.00 every month.
I How much money will she have at the end of one year?
ii. How much money will she have at the end of five years?
iii. How much money will she have at the end of ten years?
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